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A study on improvement of precision of sonding tests
for residential land an correlation with laboratory mechanical tests

Lab. of Geotechnical engineeringZhang Linsong
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This paper shows site investigation results of dynamic conena¢ioe tests (SRSMRS and PDCPT) and

Swedish weight sounding te§8WS) for residentialland This study examines the correlation between

dynamic and SWS and improvement of precision of each sounding test, and examined the correlation

betweenSRSand SWS andhboratory mechanical tests for the clay ground for soundinés tiest cost and
high accuracyConsequentlythis studywas able to raise precision of sounding test for residelatia and

was able to identify constant correlation as laboratory mechltgasts.Moreover,this studyexamined the
validity of various simple samplers.
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O fi D (mm) 45 36.6 25 35| - 33
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1958 | 979 | 500 [ 4326 | 2200| 11.69
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